Ch 5 Notes Continuous Random Variables

Characteristics of Continuous Random Variables

e Qutcomes are m%q.ard % Recs V! A
7 BQ_\'D‘ N Cent e

o Geometrically, probability is an _aces. veder o cONS

v

o P(X=x)=_O




Continuous Probability Density Function/
Continuous PDF
= L0

A continuous PDF is a \_n\c}c'\ovx .
* LUH=Z0

e f(X) is defined so that 5

Mo Yo¥old o (1 \
Iae:\wm@, AoV P" '« &

e The PDF is the C LN

A\




Continuous Cumulative Density Function/

Continuous CDF e =2

.+ P(KEX

Some Types of Continuous PDF’s
e Uniform Distribution (Ch 95) | %,\m\oee\j
4 ‘ o *o- g,&t')o&-\ \1

« Exponential Distribution (Ch 5)

% e The caneet
ot e o | . pPF e o0
LSPS c\e re i erQ: o
5?0‘&‘? oo A
G~ C_LD‘ED'\-DW‘ >

e Nocmo\ disiv, )/-_\

———rareart




Ch. 6 Notes
Normal Distribution
The Normal Distribution is also called ¢ bell core
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Example: The heights of De Anza women
students are approximately normally distributed
with a mean of 65 inches and a standard
deviation of 3 inches. -

1.Define the random variable in words. -
X =kt 08 oo Lervole DA =tudent

2.State the approximate distribution of X = ©

X~ N({6s, 3D oS

3.1f one De Anza woman student is chosen at
~ random, what is the probability that she is
between 64 and 67 inches tall?
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4.Find the probability that a randomly chosen
woman student is less than 62 inches tall.
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5.Find the probability that a randomly chosen

woman student is more than 72 inches tall.
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Percentiles feentinmedy

The heights of De Anza women students are
approximately normally distributed with a mean
of 65 inches and a st dev of 3 inches.

. X
X ~N(65, 3 o S
(‘ ) *C}\C)-)\o;\-o
1. Find the 75" percentile of DA women’s
heights.
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2. The median of De Anza women's heights.
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3. Find the middle 50% of De Anza women’s
heights.
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Z-scores

A z-score tells us how many standard devnat:ons
a data value x is from the mean.
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The closer a z-score is to 0, the closer x is to the

mean .

| Quitliers
If a data value has a z-score of more than 3 or
less than =3, it is an outlier.



Chapter 6: Calculating Z-scores
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Given X ~ N(8,2). Find z-scores for the following values of x. Then write a sentence
stating what this means in terms of the mean and standard deviation.
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2. Given X ~ N(100,10). Find z-scores for the following values of x. Then write a sentence

stating what this means in terms of the mean and standard deviation.

a. ﬂ = 0' =

b. X =105

c x =85

d. X = 142

e. Whatvalue of x has a z-score of z=-2.47
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